
Solving Quadratic Equations with Factoring - Example 3

Example: Find solutions to:
x2 + 5x + 4 = 2x + 2

In our previous examples, we factored our quadratic.
But, why were we factoring?
We wanted to write our quadratic as two things multiplied together to
get 0, so we could use the Zero-Product Property to solve.
If we factor here:

(x + 4) · (x + 1) = x2 + 5x + 4 = 2x + 2
Then it is useless without 0 on the other side.
How do we get 0 on the other side?
We can Subtract (2x + 2) from both sides before we factor

This gives us a quadratic equation with 0 on one side:
x2 + 3x + 2 = 0

We want to know when this is 0:
(x + 1) · (x + 2) = 0

By the Zero-Product Property either: (x + 1) = 0 OR (x + 2) = 0
Solving each of these equations, we get: x = −1 OR −2
Conclusion: The solutions to x2 + 5x + 4 = 2x + 2 are: x = −1, −2

http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Zero-Product_Property.pdf
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